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N.B. .— () Attempt All questions.

(it) All questions carry equal marks.
(zit) Multiple choice questions is having negative marks system.
() ¥|E A Hred.
(i) WA UEAAT §AE IO ST
(iii) ~ RUARN UEAM FRNHE URH ASH A6 ST
MCQ
1. Fill in the blanks with correct options (1-10) :
gk qAEEeE R S 9 (1-10)

) e is the father of analytical geometry ?
(@) Descartes (b)  Aristotle
(e) Locke d) Spinoza
................................... 71 fawees yfiden e e,
(@) < b) sttt
(c) <l d) TeErEn

(2) e, theory of Descartes is opposed by Spinoza.
(@) Mind-body dualism b) Mathematical method
(c) Method of doubt (d)  All of these
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amﬁ?ﬂ .................................... -mm -ﬁ:q—'_ﬁs:” -q.i:ﬁ- ﬁﬁa a—ﬁﬁw 3:“%
(@  IHR-TA g (b)  TIURTE g

(c) HYA Ugd (d) = wd

Method of Modern Western Philosophy is :

(@)  Religious Method (b)  Idealistic Method
(e) Scientific Method (d) Pragmatic Method
3:“-%&_'35 SINESITe) d(_oldl._”_q"l o ety B R 341%-.

(@  =fHeE T (b)  HTIMH UET

(c)  OSR W5 (d) HeEE! TEd
According to Spinoza human behaviour is :

(@) Determined (b)  Free

(e) Changing (d) All of these
W—SH-’W -qa -l:n:‘a'l'- aﬁ:‘- ........................... 3:"%-

(@ b) A

(c) WU (d)  Fret wd

Spinoza produced :

(@) Method of doubt b) Scepticism

(e) Determinism d) Ontological argument
FERGT oo TE el

(@) @ qS5d (b) EREER

(c)  Tradtar" (d) TARTEE kg
According to Hume origin of knowledge is :

(@) Sense experience b) Sensation

(e) Reason (d) None of these
I T QAT SIHTYI e R

(@) 5@ g (b)

¢  I&I (d) U AR
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(7) Humeisa .....ooooevvviniiiieeeeeeeenn, philosopher.
(@)  Idealistic (b)  Pragmatic
(c) Empiricist (d) Rationalist
—‘éﬂ;q- g—l. .................................. ?IV_OQT'H 3:|-|%-
(@) IR (b) eI
(c) EISRCEIE] (d) gl
(8) Locke is a follower of :
(@)  Rationalism (b)  Empiricism
(e) Innate ideas (d) Monism
F_n'a; ..................................... a- an; 3:"%?[
(@  IgIER (b)  FIWEER
(¢) ST G d)  Tehdodg
9) According to Locke, there are .............cccccceennnnnrnnnnnns kinds of knowledge.
(@)  One (b)  Two
(c)  Three (d)  Four
Q"|T°|’)'°e‘|| -qa- 5“'_”_8{ ..................................... Th a:”%a
(@ TH ®)  <H
(¢) A d =R
(10)  According to Locke ......cceevvveviiieieeiennnnnnnn. qualities insist in substance.
(@) One (b) Two
(e) Three (d) Five
('ITch'otﬂ -qa- A %a'ﬂ-uﬁ ................................. 1IUT 3.
(@ Th ®) <
(c) @ U=
Theory

Explain Spinoza’s attributes.
feqemean #d ‘U’ e AL
P.T.O.
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Or
(feram)

Explain Hume’s theory of causation.

ST HRUIoh Shodql T .
3. Discuss Descartes concept of Body-Mind relationship.
TH A HA-IRR HeY' GeheUdeR w4l .
Or
(fenam)
State Locke’s theory of knowledge.

i A AEESIA 9L
4. Write short notes on (any two) :
@) Characteristics of Modern Philosophy
(21) Determinism
(i11)  Refutation of Innate ideas
(fv)  Hume’s theory of Knowledge.
Gfera 2o ferer (Fo@Er )
@) MY ToamTrE AT
Gi)  FredER

(Gii) ~ STSd heudd ©ed

Gv) TS IS
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